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Question Number : 1 Question Id : 70819117314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

I
The period of oscillation of a simple pendulum is T = 2‘7\/£ . Measured value of ‘L' is 1.0 m

from meter scale having a minimum division of 1 mm and time of one complete oscillation is
1.95 s measured from stopwatch of 0.01 s resolution. The percentage error in the determination

of ‘g" will be :
Options :
70819157091, 1-33%

70819157092, 1-03%

e
70819157093, 1-13%

.
70819157094, 1-30%

Question Number : 1 Question Id : 70819117314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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70819157091, 1-33%

70819157092, 1-03%

E
70819157093, 1-13%

.
70819157094, 1-30%

Question Number : 2 Question Id : 70819117315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A particle is projected with velocity g along r-axis. A damping force is acting on the particle
which is proportional to the square of the distance from the origin i.e. ma= —ax?. The
distance at which the particle stops :

| i
211{% 2
3o
70819157095.

1
3{!{% 2
2o
70819157096.

1
33% ]3

2a

Options :

70819157097. {
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1

ZI?ﬂ 3
3o
70819157098.

Question Number : 2 Question Id : 70819117315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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i.e ma= —ax< Scedn oADEY Srdswn
Options :

70819157095.

1
3{!,[2] 2
2o
70819157096.

70819157097. (

. 1

ZI?ﬂ 3

3o
70819157098.
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Question Number : 3 Question Id :

70819117316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A circular hole of radius [—J is cut out of a circular disc of radius “a” as shown in [ igure. The

centroid of the remaining, circular portion with respect to point ‘0 will be :

A Y-axis

Options :

70819157099.

70819157100.

70819157101.

70819157102.

W | 2

: 10

11

Question Number : 3 Question Id : 70819117316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory Q collegedunla
Correct Marks : 4 Wrong Marks :
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Options :

70819157099, ©

70819157100.
70819157101, <

70819157102, 11

Question Number : 4 Question Id : 70819117317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A body weighs 49 N on a spring balance at the north pole. What will be its weight recorded
on the same weighing machine, if it is shifted to the equator ?
GM .
[Use ¢ = ? = 9.8 ms 2 and radius of earth, R = 6400 km.]
Options :

70819157103. LN

70819157104. o

70819157105. 4583 N

70819157106. IR

Question Number : 4 Question Id : 70819117317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

&85 §HHo B ad HH ToB) 2B Rof eBFHE" 49N FOITH. 98 H08LE

o)
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GM
[63@rAotod ¢ = o 9.8 ms~2 $08d5w, .-.:i:r%:mﬁvga’m R = 6400 km.]
Options :
70819157103. RN
70819157104. e

70819157105. 4845 N Qcollegedunias



70819157106. 95 N

Question Number : 5 Question Id : 70819117318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[f one mole of an ideal gas at (P}, V,) is allowed to expand reversibly and isothermally
(A to B) its pressure is reduced to one-half of the original pressure (see figure). This is followed
by a constant volume cooling till its pressure is reduced to one-fourth of the initial value
(B — C). Then it is restored to its initial state by a reversible adiabatic compression (C to A).
The net workdone by the gas is equal to :

Options :

RT | In2 :
2(y—1)
70819157107.

RT

2(y-1)
70819157108.

70819157109, RT In 2

0
70819157110. Qcollegedunias



Question Number : 5 Question Id : 70819117318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

RT | In2 s
2(y-1)
70819157107.

RT
2(y—-1)

70819157108.

70819157109, RTIn 2
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Question Number : 6 Question Id : 70819117319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

On the basis of kinetic theory of gases, the gas exerts pressure because its molecules :
Options :

70819157111, continuously lose their energy till it reaches wall.

70819157112. contf_nuousl}-' stick to the walls of container.

70819157113 are attracted by the walls of container.

70819157114. suffer change in momentum when impinge on the walls of container.

Question Number : 6 Question Id : 70819117319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

an Ty Ty wSE, .'?"EIJ::E\ t
20819157111, EVRE™ 58 G o Sy Senrbdol.
081915711, EVNNOT® FE FEod oHHdB0oHS.

70819157113, B A wtbolitio S,
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Question Number : 7 Question Id : 70819117320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory Qcollegedunla
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In the given figure, a body of mass M is held between two massless springs, on a smooth
inclined plane. The free ends of the springs are attached to firm supports. If each spring has
spring constant k, the frequency of oscillation of given body is :

Options :

1 k

|
70819157115, 27 ¥ Mg sina
1 2k
2\ Mg sina
70819157116.
1 2k
E
70819157117, 27 VM
1 [k
27\ 2M
70819157118.

Question Number : 7 Question Id : 70819117320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory - No
Correct Marks : 4 Wrong Marks : 1
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Options :

70819157115.

70819157116.

70819157117.

1 |2k

1
2 \} 2M

70819157118.

1 k
27\ Mg sina
1 2k
2\ Mg sina

—

M

2T

k

Question Number : 8 Question Id
Correct Marks : 4 Wrong Marks : 1

: 70819117321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory
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When a particle executes SHM, the nature of graphical representation of velocity as a function
of displacement is :

Options :
70819157119, Circular

elliptical
70819157120.

parabolic
70819157121.

st‘raight line
70819157122.

Question Number : 8 Question Id : 70819117321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

70819157119. &
70819157120, = ©
70819157121, =0 S/OU0LNTT

70819157122, OE0RTP

Question Number : 9 Question Id : 70819117322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory
Correct Marks : 4 Wrong Marks : 1 gcollegedunla



Which of the f(}]lf}‘wit‘lg equations represents a travr_-lling wave 7

Options :
— X
70819157123, Ae*cos(wt —B)
me
70819157124, Y= A€~ (vi+6)
= Asi Ty
70819157125, ¥ = Asin(15x —21)
70819157126, Y= AASINX coswl

Question Number : 9 Question Id : 70819117322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

g [N - 3 BY i i e 5
& (500 o) DbBTeRn (DAPHRN), SooNSND Ardinol ?

Options :

— X
70819157123, Y= Aetcos(wl —b)

-

y=Ae™" (vl +90)

70819157124
— 3 d )

70819157125, ¥ = Asin(15x —21)

70819157126, Y= AASINX coswl

Question Number : 10 Question Id : 70819117323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Two electrons each are fixed at a distance “2d". A third charge proton placed at the midpoint
is displaced slightly by a distance x (x << d) perpendicular to the line joining the two fixed
charges. Proton will execute simple harmonic motion having angular frequency :
(m = mass of charged particle)

Options :

1
5 1
S A -
27r£ﬂ um’3
70819157127.

70819157128.

1
TEQ md> |2
2:}2
70819157129.

27meg md> |2
q?_
70819157130.

Question Number : 10 Question Id : 70819117323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

70819157127.

70819157128.

70819157129.

70819157130.
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Question Number : 11 Question Id : 70819117324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Figure shows a circuit that contains four identical resistors with resistance R=2.0 (1, two
identical inductors with inductance L=2.0 mH and an ideal battery with emf E=9 V. The
current 1" just after the switch 'S’ is closed will be :

i
2 R
+T R% L
1
E=9 V] .
R
R
Options :
70819157131, =22 A
70819157132, >0 A
70819157133, 27 A

70819157134, 9 A

Question Number : 11 Question Id : 70819117324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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R
Options :
70819157131, =22 A
70819157132, >0 A
70819157133, 27 A

70819157134, 9 A

Question Number : 12 Question Id : 70819117325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A soft fermmagnetic material is placed in an external magnetic field. The magnetic
domains :

Options :
70819157135 increase in size but no change in orientation.

o : 3 gcollegedunias
70819157136, decrease in size and changes orientation. P



70819157137, may increase or decrease in size and change its orientation.

70819157138, have no relation with external magnetic field.

Question Number : 12 Question Id : 70819117325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

2.8 238 B wchIed SoegHns iy ©dbId SE508° €oDSHW, wchIes
(DegrSg|gsoen :
Options :

HBSeesns® Dnharan =D BRI SNEE Srnod.
70819157135. o B 5

DB STend® dharon 0805 BRATTRESNEE S18 Sotnobd.
70819157136. o B i
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Question Number : 13 Question Id : 70819117326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Match List - I with List - IL
List -1 List - II
(a) Source of microwave frequency (i) Radioactive decay of nucleus

(b) Source of infrared frequency (i) Magnetron

(c) Source of Gamma Rays (iii) Inmer shell electrons
(d) Source of X-rays (iv) Vibration of atoms and molecules
(v) LASER

(vi) RC circuit
Choose the correct answer from the options given below :

Options :
70819157139, @ (V) (B)-(v), (€)-(D), (d)-(iv)

70819157140. (a)-(vi), (b)=(iv), (c)-(i), (d)-(v)
70819157141, (@), (b)-(iv), (c)-(1), (d)-(ii1)

70819157142, (@)-(i), (b)-(iv), (c)-(vi), (d)-(iii)

Question Number : 13 Question Id : 70819117326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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List -1 List - 11
(a) DEIS FsHee =SEs () Soxs DEBrGREE Fuhin
(b) sordes FSHTR edEsw (i) SrRerS
() & 8%re addsn (i) ©oSEIELEEN Jeseen
(d) X-Sterer e:dEsin (iv) HbSrema)e DO wmaye Sodaren
v) 838

(vi) RC Seadihsin
& |Bod TSP SO axrew :
Options :
70819157139, @ (VD) (B)(v), (©)-(1), (d)-(iv)

70819157140, @)-(vi), (b)-(iv), (c)-(i), (d)-(v)
20819157141 @) (i), (b)~(iv), (c)-(1), (d)-(iii)

70819157142, (@)-(i1), (b)-(iv), (c)-(vi), (d)-(iii)

Question Number : 14 Question Id : 70819117327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the source of light used in a Young’s double slit experiment is changed from red to violet :
Options :

70819157143, e fringes will become brighter.

70819157144, Consecutive fringe lines will come closer. gcqllegedunias



70819157145. the intensity of minima will increase.

70819157146, the central bright fringe will become a dark fringe.

Question Number : 14 Question Id : 70819117327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

ChHoh EROE (HABPHEDSR) SPo8adEiind B Dod VoS IrEsnds SBSSE
Options :
' & iy s [T ¥4
wden SPo8N0S0OTP SirESgaran.
70819157143, = i

5% BHK &) Do Aden SHETRa.
70819157144, I i 0 =

70819157145.

70819157146.

Question Number : 15 Question Id : 70819117328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

An X-ray tube is operated at 1.24 million volt. The shortest wavelength of the produced
photon will be :

Options :

1
70819157147, 10~ nm

2
70819157148, 10~ - nm

:
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3
70819157149, 1077 nm

4
70819157150, 10" nm

Question Number : 15 Question Id : 70819117328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

1.24 SprOcHa J:Sﬁ._fﬁ._; {ﬁ?’u 2.8 X88:m N éég;”mm SVToavoTrth. & oD P Emfég_
t) 3
©8IT) SSONBELHD
Options :

1
70819157147, 107 nm

2
70819157148, 10~ -~ nm

3
70819157149, 107~ nm

4
70819157150, 10 ° nm

Question Number : 16 Question Id : 70819117329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The de Broglie wavelength of a proton and a-particle are equal. The ratio of their velocities
15 :
Options :

70819157151, +:1

70819157152, ** 2 .
gcollegedunlag



70819157153, 413

70819157154, 1:4

Question Number : 16 Question Id : 70819117329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

=1

a8 [@ferdo b afnd & [@r)) dbon guxen DErSSn. T8 Srre A8 -
Options :
70819157151, 41
o=
70819157152.
70819157153, 413

70819157154, 1:4

Question Number : 17 Question Id : 70819117330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

According to Bohr atom model, in which of the following transitions will the frequency be
maximum 7

Options :

70819157155, =2 to n=1

70819157156, M=3 to n=2

-l fm—3 @ i
70819157157, - © 1 collegeduniai



70819157158, M2 o n=4

Question Number : 17 Question Id : 70819117330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

& 808 DolfHned®, §°0 NG Irid (Hoetiin, GR8 )N 0a00 Gotiind ?
Options :

70819157155, N=2 o0& n=1
70819157156, N=23 #20& n=2
70819157157, n=4 ok n=3

70819157158, =5 o0& n=4

Question Number : 18 Question Id : 70819117331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Zener breakdown occurs in a p — n junction having p and n both :
Options :
70819157159, lightly doped and have narrow depletion layer.

70819157160, Lightly doped and have wide depletion layer.

heavily doped and have narrow depletion layer.
70819157161. a i

70819157162 heavily doped and have wide depletion layer.

:
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Question Number : 18 Question Id : 70819117331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

S5 F5E°R p—n B068° admroodl p 080D new :
Options :

S5 SO0 Dobaned Hochn S B4arodo Somd.
70819157159. L = G

70819157160,  ©

DNENS ZedS 555 =5 oy Fro s
70819157161, o0 SrPOZO0, B85 Tab{arogo.

DEND 3P0 & DS Bo-FPods
2081915716, & SO0 B0k, EG )W Tab<zrodo

Question Number : 19 Question Id : 70819117332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement 1 : PN junction diodes can be used to function as transistor, simply by
connecting two diodes, back to back, which acts as the base terminal.

Statement Il :  In the study of transistor, the amplification factor § indicates ratio of the
collector current to the base current.

In the light of the above statements, choose the correct answer from the options given below.
Options :
70819157163, Both Statement I and Statement 11 are true

70819157164 Both Statement I and Statement 1l are false

Statement 1 is true but Statement 11 is false
70819157165. M collegedunia



70819157166. Statement 1 is false but Statement Il is true

Question Number : 19 Question Id : 70819117332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
Coth DXesen HOI

g3

70819157163.

70819157164, OO DHTBL [
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rél

A
SRy

= g - Bl e
70819157165. DolE DH5Bes JOGNG, A ColRh =

o e la T 4 fm oy "] m el il e . w4
70819157166, ‘SR FOTRREL ERIE BIA) Doty DG I

Question Number : 20 Question Id : 70819117333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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>o0—o0 C

The logic circuit shown above is equivalent to :

Options :

S
C

70819157167, B
Ao—>0— _
o—o C

70819157168, B ©
T
70819157169, B ° |
T e
C

B

Question Number : 20 Question Id : 70819117333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

70819157170

Options : Q collegedunias
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70819157167. B )
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B o———

70819157168.

Ao— >0

Boe

T

70819157169.
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70819157170.
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Question Number : 21 Question Id : 70819117334 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Physics Section B

708191695
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Online
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708191975
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Two solids A and B of mass 1 kg and 2 kg respectively are moving with equal linear

A
momentum. The ratio of their kinetic energies (K.E.), : (K.E.); will be 1% the value of

A will be

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 21 Question Id : 70819117334 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
=5

1 kg sH8050 2 kg (Hayordoen A 0000 B @i Both {J:Ja,mtéa"mm 2.8 BOH (&5deansSmen

A .
0N &2, T8 K84% Ko (KE), : KE)p="T, oond A e

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 22 Question Id : 70819117335 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A uniform metallic wire is elongated by 0.04 m when subjected to a linear force F. The
elongation, if its length and diameter is doubled and subjected to the same force will be

cim.
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 22 Question Id : 70819117335 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 23 Question Id : 70819117336 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
A uniform thin bar of mass 6 kg and length 2.4 meter is bent to make an equilateral hexagon.

The moment of inertia about an axis passing through the centre of mass and perpendicular
to the plane of hexagon is x10~ 1 kg m?.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :
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5t05.001

Question Number : 23 Question Id : 70819117336 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

6 kg 055 $BcH 2.4 o FEHre a8 D568 SHB S8 5504
R iy (grebisin, TR (BT ;Ulgﬁu ote S8 Hbchn HR Solnd

&) ofo erdor x 10~ Tkg m?.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 24 Question Id : 70819117337 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The root mean square speed of molecules of a given mass of a gas at 27°C and 1 atmosphere
pressure is 200 ms !, The root mean square speed of molecules of the gas at 127°C and

2 atmosphere pressure is ﬁ ms . The value of x will be
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :
5t05.001
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Question Number : 24 Question Id : 70819117337 Question Type : SA N



Correct Marks : 4 Wrong Marks : 0
GRS 27°C S8 080 S5m0 1 atmosphere 38 Ko a8 ETJEI&:% |{ﬁa’:§p’=% He DD
(3] o A L e €

&

S

2A

o
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Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 25 Question Id : 70819117338 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Two cars are approaching each other at an equal speed of 7.2 km/hr. When they see each

other, both blow horns having frequency of 676 Hz. The beat frequency heard by each driver
will be Hz. [Velocity of sound in air is 340 m/s.]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 25 Question Id : 70819117338 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 26 Question Id : 70819117339 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A point charge of +12 uC is at a distance 6 cm vertically above the centre of a square of side

12 ¢m as shown in fi%ure. The magnitude of the electric [lux thmugh the square will be
x 103 Nm*/C,

g

%
)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers : Q collegedunias
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Question Number : 26 Question Id : 70819117339 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Heoxind® el AForr 12 cm ghassho HOAD a8 SEY(Ha 28 6cme & a8 +12uC

&otd E-Cfuéjmfﬁ-a’imaimﬁmfﬁa. 8 S&YHa Moo ﬁ&i&mﬁ Q-Cﬁaﬁtﬁé?ﬁa:c BB 3Tezsd0
% 10° Nm?2/C.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 27 Question Id : 70819117340 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A cylindrical wire of radius 0.5 mm and conductivity 5x 107 S/m is subjected to an electric
field of 10 mV/m. The expected value of current in the wire will be 2 mA. The value of x
15

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes g collegedunias
Answers Type : Range TS s s oo ptorn



Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 27 Question Id : 70819117340 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 28 Question Id : 70819117341 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A series LCR circuit is designed to resonate at an angular frequency {uﬂ=105 rad/s. The
circuit draws 16 W power from 120 V source at resonance. The value of resistance ‘R’ in the
circuit is (.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 28 Question Id : 70819117341 Question Type : SA

:
Qcollegedunlas
India’s largest Student Review Platform



Correct Marks : 4 Wrong Marks : 0

a8 LCRL_o:ammmmm wy=10° rad,f q;;,“ 55500 58 e arlsn 3ot Erdrobodaed.
Soaeesiin 35 S Heodhin 120 V 2d8m0 Hod 16 W Pt or8)08 Sochod™d R’
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 29 Question Id : 70819117342 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

An electromagnetic wave of frequency 3 GHz enters a dielectric medium of relative electric
permittivity 2.25 from vacuum. The wavelength of this wave in that medium will be
x10~2 ¢cm

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 29 Question Id : 70819117342 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2.25 0¥ "_‘Cfa\m c\..-El BS LDAS 2.8 E{fcéﬁﬁ DFSESD hoae 3 GHz &F Hayapsin HORS a8
E-Cfaéémfﬁéu@ wiﬁuﬁm L\:.\.--::-..- Sonod (-‘i"ﬂ‘“é@ﬁﬁ“}l wonad & S50 muuﬁ@fﬁma”m e girsod”

x10-2 cm.

Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 30 Question Id : 70819117343 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A signal of 0.1 kW is transmitted in a cable. The attenuation of cable is —5 dB per km and
cable length is 20 km. The power received at receiver is 10~ * W. The value of x is

R

[Gain in dB=10 I.ogm[
P; )

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 30 Question Id : 70819117343 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
28 Bandl 0.1 kW PS%ssin o 08850 (H00053dT . Eand 8D 20km 50850

=
5 2 i & - .
860550 —5 dB/km o005 8286 % wodd Fodisn 10-FW. x Jeod

. = P
[dB&f TionS =101log,,| =2 |]
: P.
Response Type : Numeric
Evaluation Required For SA : Yes

:
Qcollegedunlas
India’s largest Student Review Platform



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :
5t05.001

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :
Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Chemistry Section A

708191696
3

Online
Mandatory
20

20

80

Yes

1
708191976
Yes

Question Number : 31 Question Id : 70819117344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gcollegeduniag



According to Bohr's atomic theory :

2
(A) Kinetic energy of electron is o Z_

112

(B) The product of velocity (v) of electron and principal quantum number (n),
‘v x 72,

3
(C) Frequency of revolution of electron in an orbit is = ZT
n

3

(D) Coulombic force of attraction on the electron is = —-
n

Choose the most appropriate answer from the options given below :
Options :
70819157181, (A) () and (D) only

70819157182, (A4) and (D) only

70819157183, (©) only

70819157184, (44 only

Question Number : 31 Question Id : 70819117344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Qcollegedunias



9
(A) olES K8 3§ o L
n

B) egrS Jro (v) SO (XS sobo Kogy (n)© oo, ‘v x 72

[

Options :

J0g19157181. (A) (C) 58 (D) &m(E3

70819157182, () 0605 (D) &S

s
70819157183, (©) (&3

Sy

@,

70819157184, (A) &7

Question Number : 32 Question Id : 70819117345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The correct shape and I- 11 bond angles respectively in I; ion are :

Options :

70819157185, Linear; 180 M collegedunia



Distorted trigonal planar; 135" and 907

70819157186.

70819157187, 1-shaped; 180" and 90°
Trigonal planar; 120°

70819157188.

Question Number : 32 Question Id : 70819117345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

I3 0oirS @) HOFES esebsn HBaH [-1-1 208 o SHIF :
Options :
5@{3@0; 180°

70819157185.

70819157186, D0 oS Hhde @F.{:';Eff; 135° K805y 90°
20819157187, 1-E5°00; 180° 85 90°

10819157185, SanS0 BREE; 120°

Question Number : 33 Question Id : 70819117346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Most suitable salt which can be used for efficient clotting of blood will be :
Options :

NaHCO
70819157189, -3

:
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70819157190, MBHCO3)2

70819157191. FeCl,

70819157192, 1504

Question Number : 33 Question Id : 70819117346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

a

BEo & ELEEIE e@rNoth N0GN wdedn 28 ?
Options :

NaHCO
70819157189, o -3

70819157190, M8HCO3)2

70819157191. FeCl,

70819157192, 1504

Question Number : 34 Question Id : 70819117347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The correct set from the [ ollnwing in which both pairs are in correct order of mr_-lfing point
15 :

Options :

70819157193, LiC1 > LiF ; MgO > NaCl

:
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70819157194, LiF > LiCl; MgO > NaCl

70819157195, LCl > LiF ; NaCl > MgO

LiF > LiCl ; NaCl > MgO
70819157196.

Question Number : 34 Question Id : 70819117347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

DOTE (BDFSS ‘T::::J (B ZOAN Toth axdend) DOG@HN HJ8 28 ?

Options :
70819157193 LiCl > LiF ; MgO > NaCl

70819157194, HF > LiCl; MgO > NaCl

70819157195, LCl > LiF ; NaCl > MgO

LiF > Li(1 ; NaCl > MgO
70819157196.

Question Number : 35 Question Id : 70819117348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Match List - I with List - IL

List - 1 List - 11
(Metal) (Ores)
(a) Aluminium (i)  Siderite
(b) Iron (ii) Calamine
(c) Copper (iif) Kaolinite
(d) Zinc (iv) Malachite

Choose the correct answer from the options given below :

Options :
70819157197, (@k-(i), (b)-(ii), (c)-(iii), (d)-(iv)

70819157198, (@)F(1v), (b)-(ifl), (c)-(ii), (d)-(i)
70819157199, (@)-(i), (b)-(iv), (c)-(1), (d)-(iii)

20819157200, \@)-(1i), (b)-(i), (c)-(iv), (d)-(ii)

Question Number : 35 Question Id : 70819117348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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epdar - 15 har - 11 8 2808550

o -1 erdloe - 11
(Sore¥sn) (S08p e o)
(a) oorpIaho (i) EBS
(b) 8% (i) scoHS
(c) =56 (i) EcHSTRS
(d) =0cE (iv) SreBes

Bod nsre Hobd KO@S amran JKREod :

Options :
70819157197, (@)-(1), (b)-(ii), (c)-(iii), (d)-(iv)

70819157198, @)-(1v), (b)-(iii), (c)-(ii), (d)-(i)
70819157199, (@)-(H), (b)-(iv), (c)-(i), (d)-(iii)

70819157200, @)-(ii), (b)-(1), (c)-(iv), (d)-(ii)

Question Number : 36 Question Id : 70819117349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as

Reason R.

Assertion A : Hydrogen is the most abundant element in the Universe, but it is not the
most abundant gas in the troposphere.

Reason R : Hydrogen is the lightest element.

In the light of the above statements, choose the correct answer from the options given

below :

Options :

Qcollegedunias



70819157201, Both A and R are true and R is the correct explanation of A
70819157202, Both A and R are true but R is NOT the correct explanation of A

70819157203, ‘v 18 true but R is false

70819157204, ‘A 18 false but R is true

Question Number : 36 Question Id : 70819117349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Dot SS5tesen :—::.a’::'_a:&;ﬁ} : 28 PR ﬁ%tjéé:: A 29, 20558 oo R ol rdonadob.

MBS A : TFERS O B :0&5° ©&E0E D) & Ko Sressn = (P S5neos® ab wiiod
55&3 e ‘"hjilj%. 5°0.
o8 R : o 55?:‘45:.) BOBS Sredsn.

» Ddwe wrrdol, Bod aijzre Hod [HOGEN earand &y

Options :

il By nl WL STl O L B . o HB DL BV
70819157201, A 3900 R €0 HBHR) 00D A G5y DO ddes R
70819157202 &

70819157203.

70819157204.

Question Number : 37 Question Id : 70819117350 Question Type : MCQ Option Shuffling : Yes Is Question Mandator gcollegedunlam
Correct Marks : 4 Wrong Marks : 1 )



Match List - I with List - IL

List - 1 List - 11
(Salt) (Flame colour wavelength)
(a) LiCl (1) 455.5 nm
(b) NaCl (i) 670.8 nm
(c) RbCl (i) 780.0 nm
(d) GsCl (iv) 589.2 nm

Choose the correct answer from the options given below :

Options :
70819157205, @F(1v), (b)-(ii), (c)-(iii), (d)-(1)

70819157206, (@)-(i1), (b)-(iv), (c)-(iii), (d)-(1)
70819157207, @F@) (B)-(1v), (c)-(ii), (d)-(iii)

70819157208, (@)-(i1), (D)-(1), (0)-(iv), (d)-(iii)

Question Number : 37 Question Id : 70819117350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

epdar - | 5 erfor - 11 8 2853855 ¢

eedar - |1 edlae - 11
(éfo&#ﬁojﬂaﬁma} (=P Soib &60%-:}
(a) LiCl (i) 455.5 nm
(b) NaCl (i) 670.8 nm
(c) RbCl (iii) 780.0 nm
(d) CsCl (iv) 589.2 nm

o : : collegedunias
& (Bob pFw Hok JOFTH aTrand dysiod : Q ..... A Dl :



Options :
70819157205, @)(1v), (b)-(ii), (c)-(iii), (d)-(i)

70819157206, (@)-(1), (B)-(iv), (c)-(ii), (d)-(3)
20819157207, @), ©)-(v), ()-(i), (d)-(iii)

70819157208, (@), (B)-(1), (€)-(iv), (d)-(iii)

Question Number : 38 Question Id : 70819117351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The incorrect statement among, the following is :
Options :

70819157209, ¥ 0904 i a reducing agent

70819157210. RLICM is an oxidizing agent

70819157211. Cr,0; is an amphoteric oxide

70819157212 Red colour of ruby is due to the presence of Co®*

Question Number : 38 Question Id : 70819117351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

& (BobardE® JB@KH 57 D A ¢

Options : g collegedunias
20819157209, VOSO; &8 EaH8Sn se685m -



o
RuQ, &.8 @E}&éﬁm SRS

70819157210.
70819157211, Cr203 &5 BEREFREcing eHo
70819157212 Grd) @w¥) D Borvd sedeesin Co?t dodido

Question Number : 39 Question Id : 70819117352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

What is the correct order of the following elements with respect to their density ?

Options :

70819157213, T <Fe<Co<Cu<Zn

70819157214, Zn < Cr < Fe < Co < Cu

70819157215, Zn<Cu<Co<Fe<Cr

70819157216, Cr < Zn <Co < Cu < Fe

Question Number : 39 Question Id : 70819117352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

FolFE HBore 18od Swreste HO@S (B 0 ?
Options :

70819157213, ST <Fe<Co<Cu<in

70819157214, Zn < Cr <Fe < Co <Cu gcollegedunias



70819157215, Zn<Cu<Co<Fe<Cr

70819157216, Cr< Zn < Co < Cu < Fe

Question Number : 40 Question Id : 70819117353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The calculated magnetic moments (spin only value) for species [FeCl, ]2_ , [Co(C204)s Ifi -

and ['~.1n[_.‘!::'_ respectively are :
Options :
70819157217, 490, 0 and 1.73 BM

70819157218, 9-92, 4.90 and 0 BM

70819157219, 282, 0 and 0 BM

70819157220, 490, 0 and 2.83 BM

Question Number : 40 Question Id : 70819117353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[FeCl, I [CG{C2£74]3]3_ 08w ['~.1nDi'_ are 8800 wdhIod (gridtin HLHM
Options :

490, 0 S»&di» 1.73 BM
70819157217.

5.92, 4.90 £B85% 0 BM
70819157218 M collegedunia



70819157219, 2-82, 0 &00d5» 0 BM

70819157220, 290, 0 s06¢%0 2.83 BM

Question Number : 41 Question Id : 70819117354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement I : The value of the parameter “Biochemical Oxygen Demand (BOD)" is
important for survival of aquatic life.

Statement Il : The optimum value of BOD is 6.5 ppm.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

70819157221, Both Statement I and Statement Il are true

70819157222, Both Statement I and Statement 11 are false

Statement 1 is true but Statement Il is false
70819157223.

Statement 1 is false but Statement 1l is true
70819157224.

Question Number : 41 Question Id : 70819117354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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(ol Toth AXTmen 2N :

ISBe 1 S8 “ESEF0HD ©ded ©Bi8in (BOD)” Dend sodtren adsmld
BT VNI AR

DB 11 - BOD GnE) cinEZ&és (optimum) Sens 6.5 ppm.

P DN wgriorr, ([Sob a)ste Dok DO earend JSnEod :

Options :

70819157221, =08 1550050 D88 1l en DO,

Nes 1 508050 D8es 11 en DOGHD =76

&

70819157222.

70819157223, N&Tes 1758GHNG =70 AR%es 11 358GHEG =&,

20819157224, 20es [ 0GRE s0th == e 1150 H.

Question Number : 42 Question Id : 70819117355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The diazonium salt of which of the following compounds will form a coloured dye on reaction
with g-Naphthol in NaOH ?

Options :
70819157225.

CH,NH,
Qcollegedunias
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e

Question Number : 42 Question Id : 70819117355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

70819157227.

70819157228.

|8od SFPYFred® B Cof Aaho odeim, NaOH & Breid & I5Tod a8 Sorbiie

SoaTrd) (dye) a0l ?

70819157225.

: - IEZHEMH2
70819157226.

Options :

70819157227.

:
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CHj,

70819157228.

Question Number : 43 Question Id : 70819117356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which one of the [ nllowmg cnmpnunds is non-aromatic 7

]

70819157229. O

Options :

70819157230.

=]

®
70819157231. :
70819157232. I I I

Question Number : 43 Question Id : 70819117356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

2 (B Ard oS _ b AE wf ns  Ea e
&8 (S0l HEE” TR-ATHrES JAPFIo 287 collegedunias
: India’s largest Student Review Platform
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(]

70819157229. O

70819157230.

®

®
70819157231. :
70819157232. I I I

Question Number : 44 Question Id : 70819117357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which one of the following carbonyl compounds cannot be prepared by addition of water
on an alkyne in the presence of HgSO, and H,50, ?

Options :
i
70819157233, CHa~ ¢ —H
O

[l
—C—-CH»CH
70819157234, <113~ C 2=113

O

o= P colegedunia
70819157235. i



0
CH;—CH,-C—H

70819157236.

S

=
Jod

T

|

]

i

Correct Marks : 4 Wrong Marks : 1
) Bogos® @

HgS0, 58050 H,80, © &
e
Sosrtny FahBsm ?

o)
Il

Options :
CH4s—C—H

re

70819157233.
S
|
(:1-13—(:—{21 1-CHg

70819157234.
i
O

CHy=CH;=E<H

70819157236.

Correct Marks : 4 Wrong Marks : 1

Il
Question Number : 44 Question Id : 70819117357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

70819157235.
|
Question Number : 45 Question Id : 70819117358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

:
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The correct order of the following compounds showing increasing tendency towards
nucleophilic substitution reaction is :

Cl Cl Cl Cl
NO, NO,

NO,

1) (if) (i) (iv)
Options :

70819157237, {v) < (i) < (i) < (i

70819157238, (V) < (1) < (i) < (ii)
70819157239, (1) < (1) < (iii) < (iv)

70819157240, V) < () < (if) < (ii)

Question Number : 45 Question Id : 70819117358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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(B0l SapfTre S @rads H8E5ee St Tew (B

Cl Cl Cl Cl
NO,  O,N NO,
M DE NC}E NO h
(1) (i) (iii) (iv)

Options :

70819157237, {V) < (i) < (i) < (i

70819157238, (V) < (i) < (iii) < (ii)
70819157239, (1) < (1) < (iii) < (iv)

70819157240, V) < (1) < (if) < (ii)

Question Number : 46 Question Id : 70819117359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

O

Which of the followmg reagent is suitable for the preparation of the pmduct in the above

reaction ?

Options :

:
gcollegedunlas
India’s largest Student Review Platform



NaBH,
70819157241.

2@
70819157242, [\ ~NH5/CH50Na

70819157243, N/ Ha

Red P +Cl,
70819157244 2

Question Number : 46 Question Id : 70819117359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Options :

Na 4
70819157241.

o @
70819157242, N2 =NH;/GH50Na

70819157243, i/ Ha

70819157244. s chllegedunias



Question Number : 47 Question Id : 70819117360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

What is the correct sequence of reagents used for converting nitrobenzene into
mi-dibromobenzene ?

NO;, Br
- o L -
Br
Options :
Sn/HCI / KBr / Br, / H+
- o - -
70819157245.
NaNO, / HCl / KBr / H
- - - -
70819157246.
Sn/HCI / Bry / NaNO, NaBr
—_—
70819157247.
Br,/Fe ,/E“f”u../ NaNO,/HClI ;/CuBr,f’HBr i
70819157248.

Question Number : 47 Question Id : 70819117360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
gcollegeduniag



\]Gz Br
- o S =
Br
Options :
Sn/HCI / KBr / Bry / H+
- t - -
70819157245.
NaNO, / HCl / KBr / H
- - o -
70819157246.
Sn/HCI / Bry /NaNDz / NaBr
—_— - -
70819157247.
Br,/Fe h-—/SanlLlh/ NaNO,/HCI ;/CuBr,’HBrh
70819157248.

Question Number : 48 Question Id : 70819117361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In polymer Buna-5 : °S’ stands for :
Options :

70819157249, >ulphur

:
gcollegedunlag
India’s largest Student Review Platform

70819157250, Otrength )



70819157251, Styrene

Sulphnnation
70819157252.

Question Number : 48 Question Id : 70819117361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

-* & L
F05E Buna-S&° : ‘'S @o0dd 5nd ;
Options :
5

70819157249, =

70819157250. 2o (Strength)

—_n;':'E
o)
70819157251, &

T L]
70819157252, O SR E

Question Number : 49 Question Id : 70819117362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Match List - I and List - 11.

List - 1 List - 11

(a) Valium (1)  Antifertility drug
(b) Morphine (i) Pernicious anaemia
(c) Norethindrone (i) Analgesic
(d) Vitamin B (iv) Tranquilizer
= 1 gcqllegeduniag

Options :



70819157253, (@)-(1), (b)-(iii), (c)-(iv), (d)-(ii)
70819157254. (@)-(1v), (b)-(iid), (c)-(i1), (d)-(1)
70819157255, (@)-(1v), (b)(iii), (c)-(i), (d)-(ii)
20819157256, @) (1), (b)-(iv), (c)-(iii), (d)-(i)

Question Number : 49 Question Id : 70819117362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

1Bo& TeB e:efiBosos ¢

oo - 1 o - 11
(a) IOcHo (i) KEISEE ot
(b) &S (i) DYHIHH TS
(c) ~BHIES (i) STYNE (e DHBe)
(d) DS By, (iv) (erodBeb

Options :
70819157253, (@)-(1), (b)-(iii), (c)-(iv), (d)-(ii)

70819157254, (@)-(v), (b)-(ii), (c)-(ii), (d)-(i)
70819157255, (@)-(v), (b)-(iti), (c)-(1), (d)-(ii)

70819157256, (@)1}, (b)-(iv), (c)-(iii), (d)-(1)

:
Qcollegedunlas
||||| ‘s largest Student Review Platform

Question Number : 50 Question Id : 70819117363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory -



Correct Marks : 4 Wrong Marks : 1

Match List - 1 and List - 1L
List -1 List - 11

0
I
(a) R—C—-Cl -R—CHO (i  Br,/NaOH

()  R—CH,~COOH —R—CH-COOH (i) H,/Pd-BaSO,
cl

O
Il
() R—C—NH,; —+R—-NH, (ii) Zn(Hg)/Conc. HCI
O
|
(d) R—C—-CH; - R—CH,—CH,4 (iv) d,/RedP, H,O

Choose the correct answer from the options given below :

Options :
70819157257, @-(iii), (b)-(iv), (c)-(i), (d)-(ii)

70819157258, (@)-(idi), (b)~(1), (c)~(iv), (d)-(ii)
70819157259, (@)-(H), (b)-(1), (c)-(iv), (d)-(iii)
70819157260, @ (L), (B)-(iv), (c)-(1), (d)-(iii)

Question Number : 50 Question Id : 70819117363 Question Type : MCQ Option Shuffling : Yes Is Question Mandaton Qcollegedunla
Correct Marks : 4 Wrong Marks : 1 )



erfioe - 15 edar - 11 8° 285555 ¢
e -1
O
(a) I{—Cll_—CI—}l{—ClID

(b) R—CIIQ—CDDII—*R—{FH—CDDH

¢l
0
(c) Il
R—C—NH, — R —NH,

0
Il
¥} RoCLCHy VR-CH, CH,

grdar - 11

(i  Br,/NaOH

(i) H,/Pd-—BaSO,

(iili) Zn (Hg)/ree HCl

(iv) CL/28 P, H,O

& (800 oD)TFOS® VOTH T MpEiod :

Options :
70819157257, (@) (1), (b)-(iv), (c)-(1), (d)-(i1)

70819157258, (@) (i), (b)~(1), (c)-(iv), (d)-(ii)
70819157259, (@)-(1), (b)-(1), (c)-(tv), (d)-(iii)

70819157260, (@) (1), (b)-(iv), (c)-(1), (d)-(iii)

Section Id :

Chemistry Section B
708191697

Qcollegedunias



Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191977
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819117364 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The formula of a gaseous hydrocarbon which requires 6 times of its own volume of O, for
complete oxidation and pmducee 4 times its own volume of CO, is C. I-I The value of Iy is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 51 Question Id : 70819117364 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

2.8 0o “WI&"S“’:"'*ﬂ 0 el Q“‘“”"*&u Mot TP 8T

e

I

£g°
08cin e oNN8NmerlE 40 oN0Sredn Mo Q0,0 Qﬂmfﬂfnf. &3 ?I&ﬁ?ﬁ
Fpoe CH, y Dends

Response Type : Numeric

wE'

Evaluation Required For SA : Yes
Show Word Count : Yes

:
gcollegedunlag
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Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 52 Question Id : 70819117365 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The volume occupied by 4.75 g of acetylene gas at 50°C and 740 mmHg pressure is
L. (Rounded off to the nearest integer)

[Given R=0.0826 L atm K~ 1 mol 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 52 Question Id : 70819117365 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

50°C s08dn 740 mmHg &80 &8¢ 4.75 g © afda aEhod HHSHeSrme L odt
LJ o

(cﬁ{jﬁ :{;,ﬂ:_:;uéa“m)

[958 : R=0.0826 L atm K~ mol ]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

:
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Question Number : 53 Question Id : 70819117366 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Assuming ideal behaviour, the magnitude of log K for the following reaction at 25°C is
x %1071, The value of x is . (Integer answer)

3HC = CH(E}: Cﬁ] IE'U}

[Given : A/G°(HC=CH)= —2.04x10° ] mol ! ; A.G*(CgHg)= —-1.24x10° J mol™ ! ;
R=8314 ] K~ mol~1] "

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.001

Question Number : 53 Question Id : 70819117366 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
25°C 38, ey Jgraisdn o), Sob SIS log K Jensd od x x10 1 x Dend
| (= - '

{fﬁ{'jfﬂ SFPTPossin)

[2)38 : AG " (HC=CH)= —2.04 x 10°] mol ~1; AG(CgHg)= —1.24 % 10° J mol~1;
R=8314 ] K~ 1 mol~ 7] )

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

:
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Question Number : 54 Question Id : 70819117367 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

CgHg, freezes at 5.5°C. The temperature at which a solution of 10 g of C;H,;, in 200 g of C H
freeze is _"C. (The molal freezing point depression constant of C ;Hg is
5.12°C/m.)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 54 Question Id : 70819117367 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

5.5°C 8% Cg H, 5008550 Dok, 200 gCeH, &8 10 go CH,p 5o S0D55: A |Erseadin
&5 °C 58 o880 Dok, (CgHy @8 Irerd 50059 Ny orosshin
5.12°C/m.)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 55 Question Id : 70819117368 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

:
gcollegedunlas
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The solubility product of Pbl, is 8.0 10 ?. The solubility of lead iodide in 0.1 molar solution
of lead nitrate is x x 10~ mol/L. The value of x is . (Rounded off to the nearest
integer)

|Given \/T = 141]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 55 Question Id : 70819117368 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

& = =L = E == E &
PbL, Gio¥) ([ordadher ogo 8.0x 10779, 0.13rerb 88 JBE [mrdieod” 8L oBrah [rdedhd

xx10"®mol/L. x Dens . (SrTrod esaen)

[2D)58 = 2 =1.41]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :
510 5.001

Question Number : 56 Question Id : 70819117369 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

:
gcollegedunlas
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The magnitude of the change in oxidising power of the MnO}/Mn =t couple is xx 1071V,

if the H* concentration is decreased from 1 M to 10~ 4 M at 25°C. (Assume concentration of

MnO, and Mn?" to be same on change in H" concentration). The value of x is

(Rounded off to the nearest integer)
3 2303 RT
|:{_1'ivfrn - ¥ = []_[159]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 56 Question Id : 70819117369 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

5 a’:q:::, Ht i 1M o8 1074M 5 Eﬂ'fﬁﬁiiﬂ), MnOy / Mn2* ot Goo) @%éi’iw

Fsobso & SrGy. xx1074V (H* mgd 58558 MnOj 5805 Mn®* o miden

:'i.'ﬂ“l
SEFSHY DB HSD). x Dend ) (“’Mﬂq_ioé 2357°23])
' 2303 RT
[E:‘JJJES& : —F = {].{159]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Qcollegedunias



Question Number : 57 Question Id : 70819117370 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Sucrose hydrolyses in acid solution into glucose and fructose following first order rate law
with a half-life of 3.33 h at 25°C. After 9 h, the fraction of sucrose remaining is . The value

1
of Ingm[?] is %1072, (Rounded off to the nearest integer)

[Assume : In 10=2.303, In 2=0.693]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 57 Question Id : 70819117370 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

25°C 5, sErSeos® SRESS s0dEhn Bod KpEE SHbdsy L}%iéé_ o)
Bén AaHIPY) FEDoB B T oY 333 h. 9h o &

L

g 1
gehsdn f. oand Ingm[?] Dens Do x 102, (Cﬁqlf!rfﬁ PTEOESRD)

[In 10=2.303, In 2=0.693 @) ©@:HE0]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Qcollegedunias



Possible Answers :

5t05.001

Question Number : 58 Question Id : 70819117371 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Among the following allotropic forms of sulphur, the number of allotropic forms, which will
show paramagnetism 1s _ D

(A) a-sulphur (B) p-sulphur (C) S,-form

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 58 Question Id : 70819117371 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

- 8 ff ol L s wt Ll R
808 r8E° Fror dHIEE oY) (HEGoDH Jend Srarodory Hogy

(A) adend (B) B-5e)8 (©) S, B0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 59 Question Id : 70819117372 Question Type : SA gcouegeduniag
Correct Marks : 4 Wrong Marks : 0 < memmmm——



The total number of amines among, the fDIIDwing which can be 3}-'11thesized b}-‘ Gabriel

synthesis is

i [ T -
(A) CHx CH—CH—NIH (B) CH,CH,NH,

CHy—NH NHo
© ©/ (D) ©/

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 59 Question Id : 70819117372 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

NQHS HoBhes e Bod FBE° S0H SAFHBA0HE)
CH3~_ - :
(A) CH; CH—CH>—NHj (B) CH,CH,NH,

CHy—NHp NHy
©) ©/ (D) ©/

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

:
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5t05.001

Question Number : 60 Question Id : 70819117373 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1.86 g of aniline completely reacts to form acetanilide. 10% of the product is lost durf_t'l%c:;
purification. Amount of acetanilide obtained after purification (in g) is - | et

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 60 Question Id : 70819117373 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1.86 g © ©OS FeO™ IET00 LABED KHEhd. HO TADSHE 10% (Sdiresgo
: ~ :
HaPo0od. Frods JLABE HBrmo (g o) o 10

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Mathematics Section A

Section Id : 708191698
Section Number : 5

:
gcollegedunlag
India’s largest Student Review Platform



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191978
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 70819117374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let a, beR. If the mirror image of the point P(a, 6, 9) with respect to the line

=3 §p—2 =i
— = : : s 3 is (20, b, —a—9), then |a+Db) is equal to:
¥

Options :

70819157271, 84

70819157272, 86

70819157273, 88

70819157274, 20

Question Number : 61 Question Id : 70819117374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

abeR ebosfos. T2 =Y "2 271 8 kB 53 Pa, 6,9) oF oo Ens
cl, « DD Wi, F 5 '_:] =1 Dl '-...Ji'!..- LD-:.’.I} [a, - ] =1 Cadid = DI::

e A T = 0y e b M collegedunia

o =

o



Options :
70819157271, 54

70819157272, 86

70819157273, 88

70819157274, 20

Question Number : 62 Question Id : 70819117375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let a, b, ¢ be in arithmetic progression. Let the centroid of the triangle with vertices

a,c), (2, by and (a, Rlial PRE «, B are the roots of the equation ax=+bx+1=0, then
2, b) and (a, b) be %f ; If I f the eq 2+ b 0, tt

¥

the value of a2+ B2—ap is :

Options :
69
70819157275, 220
71
70819157276, 226
69
70819157277 220
By |

Qcolle edunia:
70819157278, 220 pinioni: -t



Question Number : 62 Question Id : 70819117375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks :

1
—I:. £ 2 2 2 &
a, b, c 0 woBBLE° GanchidoEhdn. (a, c), (2, b) bk (a, b) o dTrenrr Ko (Bgheo

=

o - o ]
Tg) So|dgrdo (?, ;—}. ax’+bx+1=0 HBBe) Sureren o, B 0od, o +p2—af
Goo¥) aena) :
Options :
Py
70819157275, 220
71
70819157276, 220
69
70819157277, 220
=
70819157278, 220

Question Number : 63 Question Id : 70819117376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If P is a point on the parabola y=x2+4 which is closest to the straight line y=4x —1, then
the co-ordinates of I are :
Options :

3 13 :
Jogio1s7a79, & 1) M collegedunia



70819157280. (2 8)

(—2, 8)
70819157281.

70819157282, (1 )

Question Number : 63 Question Id : 70819117376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

L LL '} - 2
W60y y=4x—1% Sordeocho y=212+4 Ped o odod ShST &old,

I
a2 8]
P S)&msiseen :
Options :

(3, 13)
70819157279.

70819157280. (2 8)

(=2, 8)
70819157281.

70819157282. (1, 3)

Question Number : 64 Question Id : 70819117377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

For which of the following curves, the line x \Ey = Eﬁ is the tangent at the point

:£.2)

2 2

:
gcollegedunlag
India’s largest Student Review Platform

Options :



70819157283.

70819157284.

70819157285.

70819157286.

2x2—-18y?=9

Question Number : 64 Question Id : 70819117377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

53

g . R p—
Sod JsFed® ) JsEA

'1"'/ i i~
ensyénod) ?

Options :

70819157283.

70819157284.

70819157285.

70819157286.

(e

] o3 Dothd Sl -x | \Ey = 2\6 @3 DEE0P

:
Qcollegedunlas
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Question Number : 65 Question Id : 70819117378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
3
The value of the integral, j[:r2 2x —2|dx, where [x] denotes the greatest integer less than
1
or equal to x, is :

Options :

70819157287, °

70819157288, 4

70819157289. V2 -3 -1
70819157290. V2 - 3

Question Number : 65 Question Id : 70819117378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

,
x % T K0P FrTrosed) [x] DD, SSrEed J’ , ToE) DensS :
1
Options :
70819157287, °
70819157288, — 4
3
J0819157289, — V2 — V3 = 1

2 3+ 1 gcolle edunia:
70819157290. V2 -3 et - i



Question Number : 66 Question Id : 70819117379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The negation of the statement
~pa(pvq)is:
Options :
70819157291, ~ P4

70819157292, ~ P "4

70819157293, ©

70819157294, PV~ 4

Question Number : 66 Question Id : 70819117379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

adf Ty

~pAl(pvq) o3 B&SSo GE) & Sy (5

éfl.
Options :
70819157291, ~ P ¥ 4

70819157292, ~F 4

70819157293, © =4

70819157294, =4

T

o T

Pulek

gcollegeduniag



Question Number : 67 Question Id : 70819117380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let A and B be 3 X3 real matrices such that A is symmetric matrix and B is skew-symmetric
matrix. Then the system of linear equations {AZBE B2A%) X=0, where X is a 3 1 column
matrix of unknnwn variables and O is a 3 x1 null matrix, has :

Options :

70819157295, no solution

70819157296, a unique solution

70819157297 exacfj}f two solutions

70819157298. infinitely many solutions

Question Number : 67 Question Id : 70819117380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Ty i

A %*“5’152 LRBE HOBAD B ) PHS @S odyty A, Ben 3 x3 5708 Sr@8en. X a8

=

.
=
e HED SPBE (werd SoTrHodt), 605w O @3 3x 1 S6K8 TrSSr S8 ocid 050H
mméiﬁhﬁv@ 558 (A 22 -B2A%) X=0%
Options :

ok St
70819157295, e 8D

70819157296. =

S8 Both FHhen Bl
70819157297. £

D Qcollegedunias
'E:h' ':..J E-:i:l:‘:l ;:]-DL Tl C: :.:I'E:'_.&:' G{'_..- D‘,‘.',-l' India’s largest Student Review Platform
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Question Number : 68 Question Id : 70819117381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let f(x) be a differentiable function defined on [0, 2] such that f'(x)=f"(2—x) for all

x e (0,2), f(0)=1 and f(2) =e”. Then the value of jf(x} dxis:
LI
Options :

7
70819157299, 1 €~

2
70819157300, 1 T €

>
70819157301, 21 +¢7)

e
70819157302, 21 ~¢7)

Question Number : 68 Question Id : 70819117381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

f@=f(2-x),Vxe (0,2, fO0)=150aD f(2)=c? odytn [0,2] 2 f(x) e’ oBedad

:

Bhabo oBe%d. e [f@x) drdns) Dens :
0

Options :

o
70819157299, 1 — €~

1+e?
70819157300, M collegedunia



X
70819157301, =1 +e%)

P
70819157302, 21 ~¢7)

Question Number : 69 Question Id : 70819117382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let f be a twice differentiable function defined on R such that f(0)=1, f(0)=2 and

lf® f«
f(x) #0forallx e R. If ';’,[U_ {r::;)} = 0, for all x £ R, then the value of f(1) lies in the
J ) fra :
interval :
Options :
0, 3)
70819157303.
70819157304. ki)
70819157305, (& %)
(9, 12)
70819157306.

Question Number : 69 Question Id : 70819117382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

flO)=1,£(0)=2 5800 o xc RoH f(x)#0 odytny R BoHIs wssedaho edy

=

[ fx)
fix)y Fie)
. Qcollegedunias
Options :

,.f

BIhabo f 0i8 0l o) xc Rod = 0 w3 f(1) Jend &0 woddo:




©, 3)
70819157303.

70819157304. %)

70819157305. (6. 9)

(9, 12)
70819157306.

Question Number : 70 Question Id : 70819117383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the curve y= ax>+bx+c, xe R, passes through the point (1, 2) and the tangent line to this
curve at origin is y =x, then the possible values of a, b, c are :

Options :
70819157307. @=1, b=1,¢c=0

a=1, b=0, c=1

70819157308.
70819157309, 2= ~ 1 b=1,¢c=1
1 1
a= = b ey C = 1
70819157310. 2 2

Question Number : 70 Question Id : 70819117383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

y=ax2+bx+c xe R, 3 SFo (1, 2) Dothd rhoce Sér Sredoths) S8 & S8 ~:|mb'5q,
N el

—

[*
y=x, ©o08 a, b, c © Jody Jwsden: gcollegedunias

Options :



70819157307.

70819157308.

70819157309.

70819157310.

a=1.h=1.c=1

a=1, b=0, c=1

Question Number : 71 Question Id : 70819117384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[f n=21is a positive integer, then the sum of the series

e, +2(2C,+ ¢, + Cy +...+ "G, )is:

Options :

70819157311.

70819157312.

70819157313.

70819157314.

n(n —1)(2n+ 1)
&)

.n{n +1) (2n + 1)

6

.11(211 +1)(3n +1)

6

.n(n I 'ljz(n + 2)

12

:
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Question Number : 71 Question Id : 70819117384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

%

o o s
n=2za8 {ﬁmwﬁﬁ’fub@a

", +2(2C,+ %, + 10y +.+ 7C, ) @B o
Options :

n(n —1)(2n+ 1)
70819157311, 6

.n{n +1)(2n + 1)
70819157312. 6

'11(211 +1)(3n +1)
70819157313. 6

n(n 'l)z(n + 2)

172

70819157314, £

Question Number : 72 Question Id : 70819117385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gcollegeduniag



For the system of linear equations :

x—2y=1, x—y+kz=-2, ky+4z=6, ke R,
consider the following statements :

(A) The system has unique solution if k=2, k= —2.
(B) The system has unique solution if k = —2.

(C) The system has unique solution if k=2.

(D) The system has no-solution if k=2.

(E) The system has infinite number of solutions if k= —2.
Which of the following statements are correct ?
Options :
70819157315, ) @nd (D) only

70819157316, (4) and (E) only

C) and (D) only
70819157317, o) 2nd (D) only

70819157318, (©) and (E) only

Question Number : 72 Question Id : 70819117385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Qcollegedunias



3don Hinsdere 5555:

(A) k22, k+—2 wondh N0 B8 RS Sodh.
(B) k= —2 ol HH008H 5 J88 FEI Boh

() k=200ndHk JEEH 88 FHS Soth,

Options :

70819157315.

70819157316, (A) 00D (E) &0 S

g

- R
70819157317, (€) 980D (D) en Sw(@

L - o e
20819157318, (B) 000 (E) &0 &8

Question Number : 73 Question Id : 70819117386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Qcollegedunias



Let f:R — R be defined as
55x, ifx< -5
f(x) = {2x3— 322 120z, if ~5< x<4
2x3— 3x2— 36x — 336, if x >4,

Let A = {x = R : fis increasing}. Then A is equal to :
Options :

70819157319, (%, —5) U (4, =)

70819157320, (=3, —4) v (4, =)

70819157321, (— ®, —5) v (—4, =)

70819157322, (2 =)

Question Number : 73 Question Id : 70819117386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

f:R >R o3&
Box, X< —5e0amd
f(x) = {223 - 322 120z, 5< x < 4eond

2x% — 3x2- 36x — 336, x > 4 ®ond

m AGDSHI0. A=fxeR:f 38 :5rea0)} 0T ol asd A=

Options :

(—e,—5)u {4, =)
70819157319, chnegeduniag



70819157320, (—3, —4)u (4, =)

70819157321, (— %, =5 W (4, =)

70819157322, (2 *)

Question Number : 74 Question Id : 70819117387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

lﬁ] s

1 iz
A pf}ssihlr_- value of tan(—sin —
4 8

Options :

70819157323, ¥/

70819157324.

70819157325.

70819157326, 2¥2 — 1

Question Number : 74 Question Id : 70819117387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

L L R T (e .
tan| —sin’ T —— | GJ0E) a5 Judy e : collegedunia
4 3 = H‘l India’s L Student R Platfc



Options :

S

70819157323.

‘ =

70819157324.

Sy

70819157325.

70819157326, 22 — 1

Question Number : 75 Question Id : 70819117388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The angle of elevation of a jet plane from a point A on the ground is 6(°. After a flight of
20 seconds at the speed of 432 km/hour, the angle of elevation changes to 30°. If the jet
plane is flying at a constant height, then its height is :

Options :

70819157327, 36003 m

70819157328, 24003 m

. 3
70819157329, \CUUN S m

.
70819157330, 120043 m

:
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Question Number : 75 Question Id : 70819117388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

g af dothd) Aol a8 245 Do &Eiﬁ;@swu 60°. Kot 432 8.5n. TKo& 20
LY Ao Do (HBrBoDS EHTE s w0 30°H Sr086. B Qirdo 888 o3
BEDN IHS® AMB%08, w0 TR I

Options :

70819157327. 3600V3

70819157328. 24{]{]"6 2

70819157329, 180043 &

70819157330, 120043 &b

Question Number : 76 Question Id : 70819117389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The vector equation of the plane passing through the intersection of the planes
;(? £'S ;, 'S ;2] =1 and ;(; _2}] = — 2, and the point (1, 0, 2) is :
Options :

r\3i+7+3k)=7
70819157331.

r(i+75+3k)=7
70819157332,

:
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7
70819157333, o

._t
Ty
|
LS
%)
ol
[l

7
70819157334 3

Question Number : 76 Question Id : 70819117389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

(1,0,2) &3 Dot owe H60 Sered 1.7 + j+ &) =1, 1-(i — 2]) = — 2.0 358

Dy Mo DG deo @) [JBFIpEEes0:

Options :

r\3i+7+3k)=7
70819157331,

rl}|?}|3k]=?
70819157332.

r-li-7j+ak)=2
70819157333. 3

rli+7j+3k)=21
70819157334, 3

Question Number : 77 Question Id : 70819117390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory - No
Correct Marks : 4 Wrong Marks : 1
gcollegedunias



For the statements p and g, consider the following compound statements :

(@ (qa(p—29q)—-~
b)) ((pva~r~p)—q

Then which of the [ ollc-wing statements is correct 7

Options :

70819157335 (a) is a tautology but not (b).

70819157336 (b) is a tautology but not (a).

20819157337, (@) and (b) both are tautologies.

70819157338.

(a) and (b) both are not tautologies.

Question Number : 77 Question Id : 70819117390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

LT ALY ¥ o

{all (~gqAa(p—=q) = ~p

) (pvagr-p)—q

1808 PSSered® D8 $8FEsa ?
Options :

(@) 2 DG
70819157335. &

|5
70819157336.

70819157337.

[T T ALY o

, 4 BSSTredH Honofod Bol Soding HhdTroth NS

(a) 30805 (b) e Bor VFoEB.

Qcollegedunias



1) S0Ba5 3 ="€:£&mf|\,;y’l.,—.—cﬁ‘
70819157338, (@) 0 (b) © D50 S

Question Number : 78 Question Id : 70819117391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If a curve y=f(x) passes through the point (1, 2) and satisfies 1% by = bx*, then for
what value of b, lj‘f{xl‘i"f = E;_E ?
Options :
70819157339. g
31
70819157340.

70819157341, 2

70819157342.

Question Number : 78 Question Id : 70819117391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

2.8 JEo y=f(x), (1, 2) ooy Moz &ér x

62
j T ? @9&ol? chllegedunias



Options :

70819157339.

70819157340.

70819157341.

70819157342.

Question Number : 79 Question Id : 70819117392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The probability that two randomly selected subsets of the set {1, 2, 3, 4, 5} have exactly two
elements in their intersecton, is :

Options :

70819157343.

70819157344.

70819157345.

70819157346.

:
gcollegedunlag
India’s largest Student Review Platform



Question Number : 79 Question Id :
Correct Marks : 4 Wrong Marks : 1

S& (1,2, 3, 4, 5) @vE) 3D Botd &b

~mr"= Coth shresten Gothbd Hoges

Options :

70819157343.

70819157344.

70819157345.

70819157346.

¢

35
2?

G,

E"“L

70819117392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Question Number : 80 Question Id : 70819117393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The area of the region : R = {(x, y) : 522 = y = 222+ 9} is :

Options :

70819157347.

70819157348, 9N

70819157349, 1133

6+/3 square units

square units

square units

:
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12 square units
70819157350. l'ﬁ a

Question Number : 80 Question Id : 70819117393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

R={(xy):522<y=<22+9 &3 @

Options :
63 SEED 0hedén
70819157347, OV T >
o fr SEED D
70819157348, 9N3 D0 iy

K fetel
70819157349, 11V3

; ":J,CE' "‘:5,/:‘. 5 -r.-f‘"
10819157350, 1243 D86 bRy
Section Id :
Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

e e -
€53 TR0 !
= 2

JV T A . Y,
)W) CuPa)en

Mathematics Section B

708191699
6

Online
Mandatory
10

5

20

Yes

1
708191979

gcollegeduniag



Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 70819117394 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the variance of 10 natural numbers 1, 1, 1, ..., 1, k is less than 10, then the maximum
possible value of k is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 81 Question Id : 70819117394 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
-‘a é‘;ﬂ'éﬁ;&’: @ond k cﬂmé& SHedx

10 25355722 Hogeen 1,1, 1, ..., 1,k © & 10 85 N
o) —B) (= T 2l

KO% Dens
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 82 Question Id : 70819117395 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let a point P be such that its distance from the point (5, 0) is thrice the distance of P from the
point (=5, 0). If the locus of the point P is a circle of radius r, then 4r? is equal to

:
gcollegedunlag
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 82 Question Id : 70819117395 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Dot (5, 0) 08 Do P % Brdo e38 P od (=5, 0) $ Ko Sroeds S Béy
ﬁ;ﬁ.ﬁé)ﬂg}ﬁ 2.8 Dohd P @80l Dot P Goo¥) dothdgo r ﬁsﬁ‘éui"‘ﬁ He a8 ECLQ'@E%
492 =

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 83 Question Id : 70819117396 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the area of the triangle formed by the positive x-axis, the normal and the tangent to the
circle (x —2)%+ (y—3)2=25 at the point (5, 7) is A, then 24A is equal to

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText g collegedunias
Possible Answers : I



5t05.001

Question Number : 83 Question Id : 70819117396 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

(x—2) 7+ [y—ﬁ]zzii a3 K,La_tc N8 (5,7) @l Aoty (G efeonty, 33*-&5355; SHBdsy &85
A i oJ

ol T

x-e buiﬂ ua |Seheo J:‘még ST OO A oCcna,24A =

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 84 Question Id : 70819117397 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

;'\E']El (1 | fﬁ]zl

}24 A ”24

Let i=v—1. If{

= k,and n=[|k|] be the greatest integral part
(1— i

of |k|. Then Z’(; I5 Zn{; t5) is equal to )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

:
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Question Number : 84 Question Id : 70819117397 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

i = J-1, n=[|k|] =»ab |k ool ﬁfﬁc‘% &i,matué' gremea)y S WS

N

y 21 21 _
l | iﬁ {1 | fﬁ n+5H n+h

[' —:_3 b - "J-]; = k ORI, Z (j +5) Z (j+5) =
(1-1i) (1+ i) =0 =0

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 85 Question Id : 70819117398 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The students Sy, 5, ...., 5y are to be divided into 3 groups A, B and C such that each group
has at least one student and the group C has at most 3 students. Then the total number of
possibilities of forming such groups is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 85 Question Id : 70819117398 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

:
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 86 Question Id : 70819117399 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ny |7C,, fn=r=0
For integers n and r, let i :
I 0, oltherwise

The maximum value of k for which the sum

o R

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

:-] exists, is equal to

Possible Answers :

5t05.001

Question Number : 86 Question Id : 70819117399 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

:
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r

[n] g 59 nzrz0oond
Ay Y el - 5 =

n 8¢5 r Srorosce

o 0, oISt

o~ 2 sl .
[ESN) '-.J{:- 'E:#O.:_,

12 13 “ “
1 .| @R Toodo o ad@xntn k @0y s Densd
[ K+1—1 27 g 5

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 87 Question Id : 70819117400 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Ifata=1,b+p=2and af(x) 4 m_,f'(iJ = bx + E x # 0, then the value of the expression
x

X
f@) 4 IH |
15 .

X o—
X

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers : gcollegedunias
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Question Number : 87 Question Id

: 70819117400 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

T Y N R
rﬁﬂmd‘_} a0l

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 88 Question Id

| 1
ata=1 b+p=2 Hbd» af(x) 4 rx_,f'[—] = bx+ E ¥
X

X

: 70819117401 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let A be an integer. If the shortest distance between the lines x —A=2y—1= —2z and
=
e SN :
x=y+2h=z—Ais — then the value of |[A\|is
2+/2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 88 Question Id

: 70819117401 Question Type : SA

gcollegeduniag



Correct Marks : 4 Wrong Marks : 0

M 28 a‘é,fﬁ‘:_xj_uéa”nﬁ:néf‘u&. SEE0pen x— A= 2y—1= -2z bcwx=y+2A=z—-r © 63:1&{:5 éﬁ%i
5
ki 5 oy
&rdo wond, |A| Gng Dens
2 ﬁ &
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :
510 5.001
Question Number : 89 Question Id : 70819117402 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
The sum of first four terms of a geometric progression (G.P.) is 77 and the sum of their

12

respective reciprocals is Ty [f the product of first three terms of the G.P. is 1, and the third

lerm is «, then 2« is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 89 Question Id : 70819117402 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

:
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1
&3 i"omlfgé D TosB Hortd Hore ©Qo ] 508050 JrES %0 avwond 2a=
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 90 Question Id : 70819117403 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
27

The number of the real roots of the equation (x +1)%+|x—5|= oY is :
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 90 Question Id : 70819117403 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
: 27
HohBbeso (x+1)2+|x—5|= ¥ Go8) TFID SHECrY Jogy
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

:
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Text Areas : PlainText
Possible Answers :

5t05.001

Qcollegedunias



